1. Below, circle all the molecules that can be called aromatic. (Do not make any
mark on, around, or beside any molecule below that cannot be considered
aromatic.)
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12. (18 pts) Complete the mechanisms below that shows how HBr adds to a conjugated diene to give
both 1.2 addition and 1.4 addition. Use arrows 1o show the movement of all electrons, and be sure to
draw all lone pairs of electrons and all formal charges. If a racemic product is formed., just put an asterisk
(*) next to the chiral center and write “racemic" under it.
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(4 pts) Draw a circle around the product you drew that will predominate when the re action is run under
conditions of thermodynamic control.
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10. (3 or 5 pts each) For the following reactions, draw the predominant product or products. When a
new chiral center is created, mark it with an asterisk (*) and if a racemic mixture is produced, you
must write "racemic" under your structure. If an E,Z mixture is produced as the result of a
dehydration step, write "E,Z mixture", but you only have to draw one isomer, not both. These
directions are different than you may have seen before. and are intended to make it easier for you. You

should read them again so you know what we want.

—_— e

Racemic

Racemic

3 Hs()®
O heat
(assume dehydration
takes place)

H
G
' H 1) catalytic NaOH
@ i 0
o 2) H;0 (only E is )
heat drawn here) E.Z mixture

(assume dehydration
takes place)




Signature

Pg 13 _**_/h?/

ated product. All the carbons in the
starting materials. Draw all molecules synthe

15. Using any reagents turn the starting material into the indjc
product must come from the given starting material or

sized
along the way. When it doubt, draw the molecule!
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15. Using any reagents turn the starting material into the indicated product. All the carbons in the
product must come from the given starting material or starting materials. Draw all molecules synthesized

along the way. When it doubt, draw the molecule!
' | i eheke A
Note : You comt comp
C) (16 pts) 6(7WHf\Lgk, bdow ML_{J_L_&SS

O Q ? ok b/(, \Jou con owlny
#Eg il g /\i\ a&& A UMQ:L{«VQ

YOw ofbes owr
e o

p\}wup e, ;(n:u&a

&b
™ )L A et 0u0ded)
4o J'\J’\DH ) 0 T’ Goere ks Yw\ahm)
\/ 1} N o oL ¢ Oul& GELwL,
( A )(J)\ %OV‘\’] £or At @ xamgt
e TS, fluis one. iwe
: Pﬁ/ 5he Ce DJDU cowld

add uw |
B /g\ A Qf\ull a]foufv ‘
o
AL

/L@ ﬂ'\l& W
i\fublhkul-?—f'o Cj‘“lﬁ

o ¢
/u\o‘r\ T L\L\Y u\ou 9‘”‘}“9

I‘L UIDU\ (‘wluf aM ‘E_+ ijp 2
ﬂm’s wwlﬁ BSoric ok Rk e




PRI,

he

Ay

%

i
B
N
N

Signature__

o . Pg 12 _ (10)

14. (10 pts) Using any reagents tumn the starting material into the indicated product. All carbon atoms
must come from the starting material. Draw all molecules synthesized along the way. When in doubt
draw the molecule! Label all chiral centers with an asterisk (*) and make sure to right "Racemic” where
.l|‘]‘ll‘1‘ll.ll\'

Remember, all of the carbons of the product must come from the given starting material
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Recognize the final product as resulting from dehydration of the aldol product (i-hydroxy aldehyd |
required aldehyde for the aldol reaction is acetaldehyde, which can be derived from the ozonoly f 2
butene. Recognize that 2-butene can be derived from the starting material through the sequen f free

radical halogenation followed by E2 elimination in base




